
Allegato 1

2x+4=6 5x-3=2

36-6x=0 2x-2=10

12+x+6x=12 5x = 0

Soluzione = 1

Soluzione = 6

Soluzione = 0



Allegato 1

6x + 2 * 5 = 58 2x : 2 = 8

13x : 2 = 13 6x + 2 * 5 = 22

30-6x=12 30 - 5x = 15

Soluzione = 8

Soluzione = 2

Soluzione = 3



Allegato 1

2x + 2 * 5 = 28 10x : 2 = 45

8x : 4 = 10 6x + 3 * 5 = 45

2 * 6x=84 2 + 5x = 37

Soluzione = 9

Soluzione = 5

Soluzione = 7



Allegato 1

6x + 2 * 2 = 28 32+x+2x=44

8x : 4 + 2 = 22 6x + x = 70

6x : 6 = 11 2 + 5x = 57

Soluzione = 4

Soluzione = 10

Soluzione = 11


